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General Instructions :

1.

Candidate must write his/her Roll Number on the first page of the Question
Paper.

Please check the Question Paper to verify that the total pages and total
number of questions contained in the Question Paper are the same as those
printed on the top of the first page. Also check to see that the questions are
in sequential order.

For the objective-type of questions, you have to choose any one of the four
alternatives given in the question, i.e., (A), (B), (C) or (D) and indicate your
correct answer in the Answer-Book given to you.

All the questions including objective-type questions are to be answered within
the allotted time and no separate time limit is fixed for answering objective-type
questions.

Making any identification mark in the Answer-Book or writing Roll Number
anywhere other than the specified places will lead to disqualification of the

candidate.

Write your Question Paper Code No. 59/0S/2, Set [A] on the Answer-Book.
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(@) The Question Paper is in English/Hindi medium only. However, if you
wish, you can answer in any one of the languages listed below :
English, Hindi, Urdu, Punjabi, Bengali, Tamil, Malayalam, Kannada,
Telugu, Marathi, Odia, Gujarati, Konkani, Manipuri, Assamese, Nepali,
Kashmiri, Sanskrit and Sindhi.

You are required to indicate the language you have chosen to answer in
the box provided in the Answer-Book.

(b) If you choose to write the answer in the language other than Hindi and
English, the responsibility for any errors/mistakes in understanding the

questions will be yours only.

AT AT :

1.

2.

TEell T o Tg I8 T AT STHATR ey ford |

FUAT TA-UF Bl A9 o o TH-T7 5 o1 IBI a1 WA hl I+ 8w @ Foaell vom v % wew
S o 81 38 o1 <l A= ot A o A shites w9 H €|

T8 Tl § 3kl IR fashedl (A), (B), (C) 91 (D) H | IS Teh I AT § qAT & TS
IT-YfEhT H 319 T W forg |

TS T % T-wry weft g % S i sty % ot @ 29 E ) swfe v % foe sem
g quy =& feam s |

IR-YfEaert § ygaH-Toag s sryan ffdy Tt & sifafes #2 oft s forga @ adianeff =
IR SEIRT S|

I IT-YFEAehT W IH-TF T I Fo 59/0S/2, T2 [a], fod|
(%) T-T hao et/ | 21 fRe oft, afe s =@ @ 0 & 2 foreft we v § s R
m%
3ireh, =t 3¢, dameh, e, qftret, worTem, weg, I, TUel, e, e, wiw,
frgd), srafien, Jurel, Syl dehd 3t i)

FHU IT-f&rent 7 feu U afem § ford foh a1 forg wwn & s fow w 2

(@) afe 3 fa=dt wa ssh & Srfafes forelt 1= v o 3o forad &, @ weei 61 gmgH | gF areft
Ffet /reAfei 6t et haer smeht gt
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SCIENCE AND TECHNOLOGY
fomm wa ek
(212)
Time : 2% Hours | [ Maximum Marks : 85
a2V, " | [ qUiish : 85
Note : (i) Al questions are compulsory.

(i) Marks are indicated against each question.

few: (@) @t g sfeE 2
(i) TIH U % I I@h G QU MU F

1. Which of the following is not a part of the brain? 1
(A) Cerebellum (B) Cerebrum
(C) Spinal cord (D) Medulla oblongata

fafafiga § @ sH-w Aferss &1 9w = 22

(A) ITIATETSR (B) THiEash
(C) #7& o (D) HgeT Afectiiter
2. Which of the following is not a base of SI unit? 1
(A) kelvin (B) newton
(C) ampere (D) candela

frefafaa & @ ®F-31 snuR@ SI wEe TE 87
(A) hfeam (B) =
(C) UfERR (D) e
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3. By using suitable SI prefix, the measurement 5-0x107'¥ m can be
represented as

(A) 50 fm B) 50 nm
(C) 50 am (D) 50 Em

U SI qEed T TN Hleh WO 5-0x10718 m 1 fopm wifa fefya ferm s gepar
87

(A) 50 fm B) 50 nm

(C) 50 am (D) 50 Em

4. A body falls from a height of 100 m. After it has fallen a distance of

75 m, it will possess

(A) only kinetic energy

(B) only potential energy

(C) more potential and less kinetic energy

(D) more kinetic and less potential energy

T g 100 m I F915 @ fRaA1 81 75 m T 1 g0 % AR o 9w s9d sei
(A) hael Tl Sl

(B) e feufas St

(C) e feufost w1t 3R w9 fast St

(D) e wfest ot 3R 0 feufos ot

5. What is the minimum resistance which can be made using five resistors
each of 10 Q7?
1

) =5 @ (B) 2 Q

(C) 10 Q (D) 50 Q
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10 Q % ufa SRRigeh! T ITAN ok LIad FohaT Tfald =@ ST Hehal 87

1
) -5 @ B) 2 Q
(C) 10 Q (D) 50 Q

6. In the given wave, the wavelength is equal to

(A) AB (B) BD
(C) CE (D) AE 1

(A) AB% (B) BD %

(C) CE% (D) AE %

7. Hamid is enjoying a ride on a merry-go-round which is moving with a
constant speed of 8 ms™!. It means that Hamid is

(A) at rest
(B) in accelerated motion
(C) moving with no acceleration

(D) moving with uniform velocity 1
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gIfg 8 ms™! 1 F1Id 9161 ¥ 901 ® P! W ORI A H1 A< o & 8| 38k 7
g T @ifie

(A) form © 2

(B) waf@ iy o 8

(C) fomm o & fa & R
(D) THEHHE o & Td § 8

8. Which of the following are exothermic reactions?
() CaO + H,O —» Ca(OH),
(i) 2Pb(NO,), —2 5 2PbO + 4NO, + O,

(i) CaCO; —2 5 CaO + CO,

(iv) CH,+ 20, > CO, + 2H,0

(A) (i) and (i) (B) (i) and (i)
(C) (i) and (iv) (D) (i) and (iv)
frafafea & o o-@ srfufpand somead &2

() CaO + H,0 — Ca(OH),

(i) 2Pb(NO,), — 2, 2PbO + 4NO, + O,

(iii) CaCO; —IN 5 CaO + CO,

(iv) CH,+ 20, > CO, + 2H,0
(A) (i) T (i) (B) (i) A (iii)
(C) (i) A (iv) (D) (i) 91 (iv)

9. Which of the following gases can be used for storage of oil and fat
containing food items for a long time?

(A) Oxygen

(B) Nitrogen

(C) Carbon dioxide
(D) Sulphur dioxide
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10.

11.

12.

13.

14.

I Td TR @EI-YEl 1 o A9 qeh WeRY % & foru, fmfafad 4 @ sm-w
g ggh 1 ST Rt 22

(A) TS
(B) ATEgieH
(C) hTsd SrEIATFTES
(D) HeH SEATFTES

Write two main uses of nitrogen.

qTEEISE W a g 3w fofen|

Describe two major deductions made by Darwin during his travel on the
Ship HMS Beagle.

T g1 310 Tdo THo THo SN ATHE W&l ! AT o GRIH T &t JH@ STAMI
1 Ui Hifsr|

Name two deficiency diseases which are caused due to protein energy
malnutrition. State the symptoms of any one of these diseases.

R FWE-SG UM &% TH qa8Y, I N SNl HUNo § o1 2id § T @ fhE v
W & A0 qT8Y|

With the help of an activity, show that the expansivity of different
materials is normally different.

T fspamerea 1 "erdr @ gaest o faftm geret 1 war am=a: fie-fie g 2

What is meant by buoyant force? State the factors on which buoyant force
acting on a body depends at a given place.

IeEE S § 1 AWMU 8?7 F R asy, A W fRE U gu wm W R g
W H I e s bl i st s 2|
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15.

16.

17.

18.

19.

20.

What is molar mass? How is it different from molecular mass? What is the
molar mass of H,0?

TR gWH o1 }7 I8 SNfvas goH ¥ fRE R i ®7 SIa %1 HieR geme
27

Find the derived SI units for the following physical quantities :

(a) Force

(b) Work

frfofan i TR % sem SI A T HR

() =

(@) »H

What is meant by adaptation? State any three adaptations of birds that
enable them to stay and fly in air.

IR § F A ¢ fafed & fhl @ ggeHi wi fafew, sos% a9y # @A
3N Ig4 & I FE B

What are meant by eutrophication and biomagnification? Explain their roles
in water pollution.

AT (FRRIA) TN e AEET F o A B 7 A TguOr § $ehT iRt 1 =me
EAIEN

Differentiate between organic manure and fertilizer.

Sfoer @e (e @e) aur a9tk 1 AR ¥ hifdu|

With the help of suitable chemical equations, state any four chemical
properties of metals.

IUH TEEHS THIRET A Tl ¥ o1gsii & His uR qHEtes ey fofag|
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21. What is a functional group? Give two examples of functional group. Name
the functional groups present in the following compounds : 4

() CH,=CHCH,CH,
(b) CH,COCH,CH,CH,
(¢ CH,CH,CH,CH,CHO
(d) CH,CH,CH,COOH

foramefieT wvg = B 27 Tohamiiel Tqg & &t 3ereew v ffafea <ifieei # foremm
fohemefiet Tl & W fafau

(%) CH,=CHCH,CH,
(@ CHZCOCH,CH,CH,
() CH,CH,CH,CH,CHO

(@) CH,CH,CH,COOH

22. Draw a neat diagram of plant cell. Label the following parts : 4
(@) Cell wall
(b) Vacuoles
(c) Nucleus
(d) Chloroplasts
UTed HIRTRT 1 Uk @Weo o sRy) Mefafgd wr @l Amifea hifg
(%) wifvrent i
(@) fefeepr

M s ()
@) FARE
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23. Draw ray diagrams showing the image formation by (a) a concave mirror
and (b) a convex mirror, when the object is placed beyond the centre of
curvature of mirrors. An object is placed at a distance of 10 cm in front
of a convex mirror of focal length 20 cm. Find the position of the image. 4

forell () rader QU dUT (@) 39 UUT gRT fdfee a1 guie & fIw, ehrer femtor 3@
Eifay Efe foa U & whd-+hs @ FB AUR g0 W W T B HE "
20 cm HIHE U % T Iqd qUU1 & @ 10 cm G W T@T TR 2| Widfew 6 feufa
T T

24. Describe an activity to show the factors on which friction between two
surfaces depends. State two advantages and two disadvantages of
friction. 4

T fshaTheTTY g0 U ST T @ Edsl & o= uvu fRe-feE s Wt e Rl
oY % @ oH qT @ sEl fakay)

25. Define atomic size. How does the atomic size change in a period and in a
group? Where would the element with largest atomic size be placed in a
(a) group and (b) period? 4

TTHTY] % TR (TT3) I GG Hife| foreht smmad qen awg § T 1 3R fohd
TR Uitetda grar 27 fpet ot () @ # 3R (@) ed H WEH 92 R H A
AT Y hal T SR ?

26. How is an ionic bond formed? Explain the formation of sodium chloride
and magnesium oxide. 4

AR JEUT Y ST 27 TIfIH Fge 9o AHRrm tedEe & 994 il Sne
A

27. How is plaster of Paris manufactured? Write the chemical equation for the
reaction involved. Write any four uses of plaster of Paris. 4

AT 3% URE w1 i fee qwe fean St 27 sEH eMaren sAhifman i qamtes
gt faftgu) wrer 3% fm &+ = r Sy fafa)
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28.

29.

30.

212/0S/2/204A

State the postulates of Bohr’s model of atom. How could this model answer
the problems of stability of atom faced by Rutherford’s model? Show
diagrammatically the electron distribution of chlorine and potassium
atoms. (Atomic number of chlorine is 17 and potassium is 19)

TR % T Higd i @unem fafew| a8 Aied TwiE % uied ¥ Ui TS fRrdr #i
T 1 THIYH H8 T TTAT 8 7 FARN qUT TR W3 o gorgg faawr o ==
ENI TS| (FAIOA o1 WRHTY] ShHTeh 17 AT WISREH w1 WA s 19 )

What is meant by electromagnetic induction? Describe an activity to show
that a current is set up in a closed coil when an external magnetic field
passing through the coil changes. State the factors on which the amount
of current generated in the coil in this activity depends. Name two devices
which are based on the principle of electromagnetic induction.

foega-gesha o ¥ w1 AR 27 U BRAERA™ % gRI 9% euizy 6 S fRdi we

Fechl T T a1t 18T FEhT &7 § iada BT 7, A1 39 Heoft # fpa-um et
Bt 81 37 BRI I Fasy, o W 38 Fharha & Heoft ¥ Icaa gareht gm il
HTA g1 ITHN (TTMAT) 6 T §qrsy, A fRq-gash W1 & g W s Hd

gl

With the help of diagrams, describe briefly various types of asexual
reproduction in lower organisms.

fa=t 1 wemar @ fraa Siel | fafie ger & e S99 o1 989 J 9o hifs)
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